
EAGLE 620

AZDVBTM
20/08/202420/08/202403/11/2008

1:10 ConfirmedVerifiedDrafted

Init.
Date

Scale:

Plan No.

E000525

8001501

X/

. Add loctite nr.243 on nr.33, nr.43 and nr.44

. Lubricate with grease : nr.11 and nr.20

. Lubricate with grease : nr.19 and nr.20

. Use PP02203  KLEJ RED-SABA FOAMSPRAY 
  2203/2916 to glue nr.52
. Tighten with torque wrench 25Nm W600135: nr.60 and nr.26

VERMEIREN

2

3

4

5

14

16

17
18

21

25

29

36

37

39

40

47

36

1

33

47

31

25

25

27

2

37

1

6

38

12

6

31

25

50

51

51

53

54

19

46

52

9

56

57

58

27

44

35

44

20

55 48

11

22

46

41

43

62

Tighten with 36 Nm
A

30

8
10

42

52

24

15

24
2

7

45

24

27

52

34

26

60

21

1

23

49

1
2461

43

62

Tighten with 36 Nm

Detail A (1:5)



EAGLE 620

AZDVBTM
20/08/202420/08/202403/11/2008

1:10 ConfirmedVerifiedDrafted

Init.
Date

Scale:

Plan No.

E000525/X

8001501

|

|
|
|
|
|

VERMEIREN

No. Plan Article Number
Material

32
33
34
35
36
37
38
39
40
41
42
43
44
45
46
47
48
49
50
51
52
53
54
55
56
57
58
60
61
62

X001398
M10x16

M12
DIN471 17.5-1.2

---
---

M10x70 DIN7991/8.8
---

8 kN
---
---

M10x90 DIN7991
M8x16
M8x35
⌀4x14
M8x40
⌀10x50

⌀25 M10x1
---
---

X004580
---
---

X004612
X004632
X004650
Y016681

M12 DIN934
M8x25 DIN912/8.8

M10 DIN439B

1009689
1903370
1003294
1904807
1903402
1903403
1903406
1903418
1919176
1903420
1903578
1921197
1991858
1993236
1001584
1008739
1998885
1999935
1903876
1903877
1904798
T001052
1904556
1904946
1905205
1905380
F006290
1001673
1001499
1903216

1
2
1
1
2
2
2
1
1
1
1
2
2
2
4
2
2
1
1
1
3
2
2
1
1
1
1
1
1
2

No. Plan Article Number
Material

1
2
3
4
5
6
7
8
9
10
11
12
14
15
16
17
18
19
20
21
22
23
24
25
26
27
29
30
31

X001016
P00074772

X004122
X004123
X004124

P00078139
X004288
X004338
X004341
X004353
X004405
XP00106
Y014110

P00074771
Y014535
Y014536
Y014537
Y015803
Y015787

P00075688
Y015033

⌀25x⌀12.2x0.7
M8 DIN934

M10 DIN985
M12 DIN985

M8
M6x70 DIN6912

M10x23
M10x80 DIN7991/8.8

1001682
2098400
1692500
1692600
1692700
G105000
1903587
1708700
1708800
1903588
1903783
2990072
1690219
2098354
1706719
1706819
1706919
1760119
1760019
2098500
F005873
1993500
1001671
1001683
1001684
1006835
1902583
1903086
1905617

5
4
1
1
1
2
1
1
2
1
1
1
1
1
1
1
1
1
1
2
1
2
5
4
1
4
2
1
2


